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1.  Overview of International Economics
Answers underlined in bold.
1.  Raising US tariffs on foreign steel,

A.  helps to preserve steel workers' jobs in Indiana and Pennsylvania.

B.  helps to secure votes in Pennsylvania and Indiana.

C.  helps to preserve tool makers' jobs in Connecticut.

D.  lowers domestic steel prices.

E.  Both A&B.

2.  If the exchange rate for the dollar (e.g. euros/$) falls, export prices

A.  rise.


B.  fall.



C.  remain unchanged.  

D.  rise with import prices.

E.  None of the above.

3.  The Balance of Payments is defined as 

A.  the current account plus the trade account.

B.  capital inflows minus capital outflows.

C.  exports minus imports.

D.  the current account plus the capital account.

E.  none of the above.

4.  The currency exchange system used by most of the world is a system involving 

A.  fixed exchange rates.

B.  pegged exchange rates.

C.  flexible or floating exchange rates.

D.  currency boards.

E.  none of the above.

5.  If the exchange rate for the dollar (e.g. euros/$) were to fall, the balance of payments would

A.  rise.


B.  fall.



C.  remain unchanged.  

D.  experience a net capital outflow.

E.  None of the above.

6.  If a country is experiencing export-led development, most likely, it is 

A.  specializing with respect to comparative advantage.

B.  using tariffs and quotas to protect import-competing industries.

C.  specializing with respect to absolute advantage.

D.  Both B & C.

E.  None of the above.

7.  Which of the following countries has experienced the fastest rate of development in the last ten years:

A.  China

B.  Argentina

C.  Japan

D.  Mexico

E.  USA

8.  Do lower wages in developing countries almost always lure companies away from developed countries?

A.  No, because transportation costs and poorly developed infrastructure such as roads and ports may make total costs even higher than in a developed nation where workers earn a higher wage.

B.  Yes, because labor is always the highest cost associated with production.

C.  No, total costs depend on productivity, so one must compare wages/marginal product.

D.  Both A&C.

E.  None of the above.

9.  The World Trade Organization (WTO) and regional trade pacts such as NAFTA, ASEAN, and the EU promote trade by

A.  raising trade barriers.

B.  raising quotas.

C.  lowering tariffs and quotas.

D.  imposing monetary unification (single currency)

E.  None of the above.

10.  Even though barriers to trade reduce overall utility, why do countries maintain some barriers to trade?

A.  To protect jobs.

B.  To protect historically or culturally important industries.

C.  To protect fledgling industries.

D.  Both A&C.

E.  All the above.

11.  When countries engage in trade, 

A.  they tend to specialize.

B.  they exploit comparative advantages.

C.  they increase consumption and utility.

D.  they lose some jobs because of structural adjustment.

E.  All the above.

12.  During the Asian Banking Crisis of 1997-98, capital inflows diminished because of falling investor confidence in the "zaibatsu" type relationship between corporations, banks and government.  This initially led to a balance of payments deficit which gradually improved via

A.  first, currency depreciation, but eventually an increase in demand for Asian imports.

B.  first, currency depreciation, but eventually an increase in demand for Asian exports.

C.  first, currency appreciation, but eventually an increase in demand for Asian imports.

D.  first, currency appreciation, but eventually an increase in demand for Asian exports.

E.  none of the above.

13.  If the Fed raises interest rates, the US would experience a net

A.  capital outflow.

B.   increase in exports.

C.   capital inflow.

D.  Both B&C.

E.  None of the above.

14.  The World Bank and the International Monetary Fund deserve criticism because

A.  they have been attempting to tell other countries how to handle internal affairs.

B.  they have been charging interest on loans.

C.  they have been enforcing the same loan conditions, regardless of borrowers’ needs.

D.  they do not consider poverty or environmental issues in their mission statements.

E.  None of the above.

15.  India’s policy of supporting domestic import-competing industries has

A.  helped it to develop faster than the Pacific Rim.

B.  helped it to receive maximum gains from trade.

C.  helped to protect fledgling, capital-intensive, industries.

D.  caused it to develop slower than the Pacific Rim.

E.  Both C&D.

16.  Which country (ies) has followed the fundamental tenets of the Heckscher-Ohlin Theorem?

A.  Pacific Rim countries like South Korea.

B.  India

C.  United States

D.  Both A&C.

E.  None of the above.

17.  A "small" country:

A.  is one in which changes in production have no effect on world prices.  

B.  usually specializes completely in the production of a single good.

C.  becomes comparatively more specialized when there is biased growth in its export sector.

D.  Both B&C.

E.  Both A&C.  (Rybczinski Theorem)
18.  Assume N1 is a large country that is beginning to experience growth.  

As a result, if N1 exports good x, post-trade world prices, 
[image: image11.bmp] ,

A.  will return to the same level as in autarky.

B.  will stay constant.

C.  will fall.  (terms of Trade effect)
D.  will rise.

E.  None of the above.
19.  Tariffs are inefficient because

A.  they reduce consumption.

B.  they reduce utility.

C.  they eliminate portions of consumer surplus, i.e. produce dead weight loss.

D.  they preserve inefficient jobs.

E.  All the above.

20.  The Bretton Woods agreement

A.  fixed the US dollar to a specific price per ounce of gold.

B.  fixed foreign currencies to the dollar.

C.  is a gold standard.

D.  is a market based currency system.

E.  Both A&B.

21.  For a consumer who consumes two different goods, utility maximization occurs when the budget is exhausted, and the:

A.  ratio of marginal utility to price is the same for both goods.

B.  the budget constraint is just tangent to the indifference curve yielding greatest feasible utility.

C.  marginal utility of all goods is the same.

D.  Both A&B.

E.  None of the above.

22.  The |slope| of the production possibilities frontier at any point is:

A.   
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E.  Both B&C.

23.  By undertaking a policy of propping its currency in 1994, Mexico was committed to

A.  selling its pesos in world currency markets.

B.  buying its pesos in world currency markets.

C.  reducing the value of Mexican assets held by foreigners.

D.  buying US dollars in world currency markets.

E.  Both C&D.

24.  The currency board enforced by Argentina in the 1990s

A.  helped to reduce inflation.

B.  was a price control on exchange rate, $/Apeso.

C.  reduced monetary policy independence.

D.  was abandoned in 2001.

E.  All the above.

25.  It is feared that regional trade pacts can sometimes reduce global trade because

A.  trade blocks are unstable.

B.  trade blocks promote trading within the block and not with the rest of the world.

C.  trade blocks require monetary union.

D.  Both A&C.

E.  None of the above.

26.  The EMU (European Monetary Union) 

A.  required potential members to attain stringent inflation and debt requirements.

B.  uses the “euro” currency.

C.  has as its members all the countries in the European Union.

D.  Both A&B.

E.  None of the above.

27.  To successfully develop, Africa must

A.  discourage western dependence including foreign direct investment.

B.  promote human rights very slowly and carefully.

C.  encourage its educated workers to find jobs in the West.

D.  develop intercontinental infrastructure such as roads, ports, communications centers and railways.

E.  None of the above.

28.  Are manufacturing wages in the US “set in China?”  (Stolper-Samuelson and Factor Price Equalization Theorems)
A.  No, because the factor price equalization theorem suggests that only relative input prices are converging.

B.  No, because what matters most is the wage rate relative to productivity.

C.  No, because one must also consider transportation costs.

D.  Yes, absolutely, because low wages in China are forcing world prices lower.

E.  A, B, and C are all correct.

29.  Japan’s economic growth after World War II was helped by

A.  low interest rates due to its high savings rate.

B.  a reluctance by the West to force Japan to trade more freely because of its strategic importance.

C.  a well-educated population earning modest wages.

D.  Strong U.S. consumer demand.

E.  All the above.

30.  Japan is not under as much pressure to reform its zaibatsu because

A.  it has a high domestic savings rate.

B.  it is more dependent on foreign direct investment than other Pacific Rim countries.

C.  it is less dependent on foreign direct investment than other Pacific Rim countries.

D.  Both A&C.

E.  Both A&B.

31.  The events of 9-11-01 had a global economic impact

A.  from which we cannot fully recover.

B.  because it severely interrupted capital flows.

C.  because it crippled airline and related industries.

D.  because it raised interest rates world wide.

E.  None of the above.

32.  Export “dumping” means

A.  a country is de-emphasizing its export sector.

B.  a foreign firm is selling its exports below domestic prices.

C.  a foreign firm is selling its exports below its production costs.

D.  a foreign firm is selling its exports below domestic import-competing production costs.

E.  a  domestic import-competing firm has obtained greater market share.

33. 

Steak

Fish

Given these PPFs from the United States
US

200
or
600

and the United Kingdom,

UK

200
or
100

assume constant opportunity costs.


Which country has a comparative advantage in steak?

A.  US

B.  UK

C.  Neither does.

D.  Both do.
34. 

Steak

Fish

Given these PPFs from the United States
US

200
or
600

and the United Kingdom,

UK

200
or
100

assume constant opportunity costs.


Which is the most mutually beneficial terms of trade? (S:F)=
A.  (1:4)

B.  (1:1)

C.  (3:1)

D.  (2:1)
2.  Welfare Effects of a Tariff
Example:  Draw a figure similar to Figures 8.1 for Nation 1 but with the quantity of commodity Y on the horizontal axis and the dollar price of Y on the vertical axis.  Draw SY for Nation 1, identical to SX for Nation 2 in Figure 8.1, but draw DY for Nation 1 crossing the vertical axis at PY = $8 and the horizontal axis at 80Y.  Finally, assume that PY = $1 under free trade and that Nation 1 then imposes a 100 percent ad valorem import tariff on commodity Y.  With regard to your figure, indicate the following for Nation 1:

(a)
The level of consumption, production, and imports of commodity Y at the free trade price of PY = $1.

(b)
The level of consumption, production, and imports of commodity Y after Nation 1 imposes the 100 percent ad valorem tariff on commodity Y.


(c)
What are the consumption, production, trade, and revenue effects of the tariff?


(d)
Calculate Dead-weight loss.  What does it mean?

(e)
Calculate the amount of tax revenue the tariff generates.

Solution:
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(a)  domestic (N1) consumption =70, domestic (N1) production= 10, imports = 70-10=60

(b)  domestic (N1) consumption =60, domestic (N1) production= 20, imports = 60-20=40

(c)  Because the domestic price rises above the world price, domestic (N1) consumption falls by 10, domestic (N1) production increases by 10, imports decrease by 20.  The other effects are noted on the graph.

(d) DWL= ½(20-10)(2-1) + 1/2(70-60)(2-1)=5+5=10.  DWL is lost consumer surplus (cs) [or producer surplus (ps)].  It represents the loss in efficiency due to the tariff.

(e) (2-1)(60-20)=40.
2.
For the statement of Problem 1:

(a)
Determine the dollar value of the consumer surplus before and after the imposition of the tariff.

(b)
Of the increase in the revenue of producers with the tariff (as compared with their revenues under free trade), how much represents increased production costs?  increased rent, or producer surplus?

(c)
What is the dollar value of the protection cost, or deadweight loss, of the tariff?
Answer:

(a) 








CS Before=










0.5(70)(8-1)=245
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(c)  Finding the area of the dead-weight loss triangles:  DWL=5+5=10.  Note that tariff revenue is 40.

3.  How the Exchange Rate Affects Trade Patterns


 EMBED Word.Picture.8  


When the price of a $ = er = L/$ increases we say that the $ has appreciated and the pound has depreciated.  When L/$ decreases we say that the $ has depreciated and the $ has appreciated.

Changes in Supply of $ occurs when there are:

1.  Changes in domestic money supply

2.  Changes in foreign central bank's holdings of $

3.  Capital Outflows stemming from

· Change in the domestic interest rate.

· Change in foreign interest rate.

· Change in political climate.

· Change in economic or political expectations

4.  Speculation that the dollar will depreciate

Changes in Demand for $ occurs when there are:

1.  Changes in demand for exports

2.  Capital Inflows stemming from

· Change in the domestic interest rate.

· Change in foreign interest rate.

· Change in political climate.

· Change in economic or political expectations

3.  Speculation that the dollar will appreciate

Example 1: Assume that the Fed decides to raise the discount rate.  What effect does this have on the exchange rate?  


Other US rates will begin to rise as well.  This makes investment in the US more appealing.  Thus there will be an increase in the flow of capital ($ for investment) into the US.  However, the foreign monies will have to be converted to US $ first.  Thus, the demand for $ increases, causing an appreciation of the dollar.

Note that we can express any change affecting $ and pounds in terms of either the market for $ or the market for pounds.  For example, if U.S. interest rates rise, there could be a capital inflow for the U.S. and a capital outflow for Great Britain, as British investors seek higher paying assets in the U.S..  In both cases the $ appreciates since L/$ rises (or $/L falls, depending upon your perspective).


[image: image6]Example 2:  How can the British government "prop" the pound?  Hint: now look at the D&S for the pound in terms of the $.


By buying L with $ the British can increase the demand for their own currency.  This will increase the demand for the pound, increasing the price of a pound ($/L).  

Equivalently, the purchase of L with dollars will increase the supply of dollars in the secondary market, thus decreasing L/$, the price of the dollar.  That is, the dollar depreciates.

Exercise:  What should renewed hostilities by the IRA do to the value of the pound?
Exchange Rate and Terms of Trade:  

Assume the following constant opportunity cost PPFs:

Paper 

Aluminum

Products
Foil

US


30
or
10

UK


20
or
20

This is consistent with the following competitive (P=MC) domestic price ratios for paper products and Aluminum Foil in the United States and the United Kingdom.

Paper 

Aluminum

Products
Foil

US


$1

$3

UK


L1

L1

Comparative Advantages in Currency terms:  

US:  ($PP:$AF)= ($1:$3)

UK:  (LPP:LAF)= (L1:L1)  -AF costs the same as PP in the UK, whereas it is 

three times more expensive in the U.S..

Thus, the US has a comparative advantage in the production of Paper Products, whereas the comparative advantage of the UK is in Aluminum Foil.  The only difference between this and earlier examples is that "opportunity cost" is now price.  It is assumed that the market price reflects the true cost of producing the good.  That is, if markets are competitive, relative prices do indeed yield comparative advantages.

The exchange rate affects trade in the following way:

· If er = L/$ = 1/2, then the UK will import Paper Products from the US since they only cost 

$1 = L0.5 < L1, and the US will import Aluminum Foil from the UK since it only costs 

1L = $2 < $3.

· If er = L/$  = 1/4, then the UK will import Paper Products and Aluminum Foil from the US since they only cost $1 = L0.25 < L1 and $3 = L0.75 < L1, respectively.

· If er = L/$  = 2/1, then the US will import Paper Products and Aluminum Foil from the UK since they only cost L1 = $0.5 < $1 and L1 = $0.5 < $1, respectively.


IMPORTANT!  In order to have trade in both directions the exchange rate must fall within the following range:  

 .  Note that 1/2 L/$ falls within this range.

Exercise:  In example 1 of HW 1, for the US, the price of wine will be half the price of vodka.  

In Russia wine will cost five times that of vodka.  Why?

If the price of wine in the US is $10 a unit and the price of vodka in Russia is 10R per unit, what exchange rate range will guarantee trade in both directions?

4.  The Balance of Payments

Consists of:

1.  Current Account:  Trade in real goods and services

2.  Capital Account:  Capital flows


 EMBED "Equation" \* mergeformat  


Official Reserve Account or Transactions:  






a.  Domestic Currency, 

or  more generally, 


b.  M2 or M3.

The method of double entry bookkeeping implies that:


 EMBED "Equation" \* mergeformat  

.

ORT consist of central bank transactions in international reserve assets like gold, foreign exchange reserves, IMF credits, Special Drawing Rights (SDR - an IMF asset in terms of $, Y, DM, L, FF).  

ORT "back up" the domestic currency.  If the foreign country wishes to exchange the currency for something "harder" this is the best they can do.

EXTERNAL BALANCE  or

BALANCE OF PAYMENTS EQUILIBRIUM.

means that together, 

the current and capital accounts balance to zero.  


 EMBED "Equation" \* mergeformat  

.

EXTERNAL DEFICIT  

means that together, 

the current and capital accounts are negative.  


 EMBED "Equation" \* mergeformat  

.
· We can view an ORT surplus as a capital inflow since presumably foreigners have the immediate option of  purchasing US goods, services or assets with this cash. 

· In reality, it can also be viewed as a lien against US goods, services and assets.  For example, the Japanese and others have used this excess cash generated from their trade surplus with the US to purchase land and other assets like US government bonds.  

· As more foreigners purchase US bonds it becomes more difficult to "roll the debt over."  

That is, at any moment the US government must be prepared to pay off both the interest and the principle on this portion of the debt.  This is the principal difference between owing ourselves and owing others.

· The actual BP figure depends on a given exchange rate.  
· If the dollar depreciates the US assets and goods become cheaper, lowering any external deficit.  The opposite is true as the dollar appreciates. 

5.  More International Finance
 All Exchange Rates are in terms of the foreign currency, 

.  

Depreciation of foreign currency (app. of $):  


Appreciation of foreign currency (dep. of $):  


Arbitrage:  Acts to keep exchange rates the same all over the world.

Assume that a British bank is offering  

 = $2.01 and an American bank is offering 

 = $1.99.  

An American investor could buy a pound for $1.99 here and then exchange it in Britain for $2.01, making a quick $.02 profit for every dollar invested.  

If the initial trade involved $1,000,000, then the profit amounts to $20,000 for two minutes work.  

However, the act of buying the pound here exerts upward pressure on its price, whereas selling it in London drives the price down.

FOREIGN EXCHANGE MARKETS

Spot Rate of Exchange:  This is the rate at which currency is exchanged when the transaction is to take place on that day.  The actual exchange is said to take place in the spot market.

Forward Rate of Currency Exchange:  This is the rate that is guaranteed when an exchange (buying or selling) is promised to take place at some future date (usually three months).  The exchange takes place in the forward market.  Participation in this market requires no "up front" moneys except a small fee.

Forward Premium:  When the forward rate is higher than the spot rate, pounds are said to be trading at a forward premium.  This is because the forward market indicates that pounds are expected to appreciate.

Forward Discount:  When the forward rate is lower than the spot rate, pounds are said to be trading at a forward discount.  This is because the forward market indicates that pounds are expected to depreciate.  

Note:  If the forward trading is to take place in three months, the three month return on an investment with a 3% annual return is 1%.
Let FR denote the forward rate and SR the spot rate.  

Forward Discount or Premium = 

.  
The latter term expresses the quarterly discount or premium as an annual percentage.  

Note:  Discounts < 0 and Premiums > 0.

Currency Swap:  Spot sale of dollars today combined with a forward repurchase of dollars later.  One would do this if you expected the pound to appreciate.  

Futures Market:  Similar to the forward market.  However there are more restrictions.  Only certain currencies and amounts may be traded at certain times and places.  However these types of promises to buy or sell currency can themselves be traded.  Participation in this market involves outright purchase of the contract.

Put Option:  A futures contract giving the seller the right, but not the obligation, to sell a standard amount of currency at given date.  Thus, the option may, or may not, be exercised by the seller, but the currency must be bought if it is exercised.

Call Option:  A futures contract giving the buyer the right, but not the obligation, to buy a standard amount of currency at given date.

EXCHANGE RATE RISK

Open Position:  Every time one purchases a currency with intent to repurchase the currency at some later date they are leaving themselves 'open' to exchange rate risk - the effects of changes in the exchange rate.  These changes can have adverse or good effects on one's net return from an investment.

Hedging:  Covers an open position.  Assume that an importer (US) and an exporter (UK) agree to make delivery and payment three months from now for L100,000 in goods.  The spot rate is now $2/L.  In three months time, the spot rate could fall, essentially lowering the price of the goods for the importer.  This would make the importer very pleased.  Similarly, if the spot rate were to rise, the importer would have to pay more $ for the goods.

Hedging is insurance.  It takes exchange rate risk out of the transaction. The cost of hedging (the cost of buying a forward or futures contract) is merely the payment for this type of insurance.

Hedging in the Forward Market:  The importer could exchange his money now (or borrow and exchange) at the current spot rate.  He could deposit this sum at a British bank, earning interest over the three months.  Thus, the importer knows that he will not pay a penny more than $200,000. for the goods.  The explicit cost of hedging is nothing if he does not need to borrow the money.  Otherwise it is equal to the difference between the interest earned and the interest paid during the three month period.

Drawbacks:  The investor or businessman must tie up or borrow funds for 3 months!

Hedging with Futures:  

A.  If the 3 month forward rate is $2/L then the importer could purchase the L100,000 forward, thus committing to paying $200,000 for L100,000 in three months.

OR

B.  He could purchase the option to buy L100,000 at, say, the forward rate three months from now.  That way, if the spot rate were to rise, 

, he could exercise the option, avoiding what would be a higher dollar payment under the current spot rate.  Otherwise he could refuse to exercise the option, taking advantage of a lower spot payment in three months time.  (For this reason, a futures call option would, of course, be more expensive).

Note:  Hedging costs money.  It is a form of insurance against exchange rate risk.  However, if the exchange rate were to fall sufficiently to make up for the price of the option then the importer actually makes a profit by hedging!

SPECULATION

The practice of using exchange rate risk to make a profit.

1.  A US speculator could buy  a given currency at the going spot rate and deposit the money into a bank account in the hope the currency will appreciate.  He may even borrow to do this.

2.  If a US speculator believes that the spot rate in three months time will be lower than the current forward rate he could sell pounds forward at, say, $2/L.  If the spot rate in three months is indeed lower, say $1.95/L, he can buy pounds now to fulfill his forward contract, making $.05 on each pound transacted (less the forward fee).  If the spot rate were to rise above the forward rate, then he takes an equivalent loss (plus the fee).

3.  Or, this same speculator could have purchased the option to sell pounds in three months.  If the spot rate in three months is below the current forward rate, then the speculator exchanges dollars for pounds an exercises his put option realizing almost the same profit as with the forward contract (option costs a bit more).  If the spot rate is not low enough,  the speculator will choose to not exercise his option, thus only incurring the price of the option.

INTEREST ARBITRAGE

Uncovered Interest Arbitrage:  If the interest rate on British assets is higher than that on US assets, one may wish to invest in Britain.  However, while waiting for your return to accrue, changes in the exchange rate could either add to or deduct from your net return.

e.g..  If 

 then your net return will be less.  If $2 are invested in Britain at a spot rate of $2/L earning 10% per annum, and the exchange rate remains the same, the return on the investment is $2.20.  If the spot rate falls to $1.95/L, the net return on the investment after a year is only $2.15.

Covered Interest Arbitrage:  The investor above purchases and deposits pounds in British assets, but also buys a forward contract to sell pounds in the future.  This is a currency swap. 

If 

 then 

US funds should be invested in the US.

If 

 then US funds should be 

exchanged for pounds and invested in Britain.

In the second scenario, if investors flock to purchase pounds at the spot rate, the spot rate will increase with the increased demand for pounds.  The corresponding increase in promises to sell future pounds will necessarily increase the supply of future pounds, thus decreasing the forward rate.  In the end, 

.
Also, as funds leave the US for the UK the supply of loanable funds decreases in the US and increases in the UK.  This will cause the interest rate in the US to rise and the interest rate in the UK to fall.

These items together bring about the 

Covered Interest Parity Condition:  

.

Thus, whenever interest rates in the UK rise compared to US rates,  one would first expect a rise in the SR.  However, the increase in the supply of pound at the expiration of the forward contract (as everyone sells pounds to reap the gains from their investment) puts downward pressure on the spot rate at that time.

(This is why most economists forecast a fall in the exchange rate as interest rates rise - our initial discussion considered only the spot rate at the time of the announcement.)
EFFICIENT MARKETS

A market is efficient if prices reflect all available information.

For example, if there is excess supply of a commodity then that implies that too many resources are being devoted to the production of that commodity and not enough to other products consumers might like better.

The exchange rate market is efficient if, on average, the forward rate equals the spot rate at the time the contract is fulfilled.
Exchange Rate Models

Trade or Elasticities Approach:  The equilibrium exchange rate is the one which balances trade (value of imports and exports).

Purchasing Power Parity:  The equilibrium exchange rate is the ratio of the two countries general price levels.  Recall the Big Mac Index!
Monetary Approach and Overshooting:  The equilibrium exchange rate is that which equate international and domestic demand of the currency with international and domestic supply.  This can lead to overshooting (excessive depreciation or appreciation followed by a slow return to the new level).

Portfolio Balance Approach:  The equilibrium exchange rate is that which balances total value of the supply of domestic assets with the total value of the demand.
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